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1) True

2y True

3) __ False

o False

5.) True

6) __ Talse
oAb

8.) 27

9.) 000,000
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23.) r(z),

22.) p(z)
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24.) e*

26.) 3e”

25.) log.()

27.) log.(—x)




Third Exam

For #1-6 write the entire word “True” or the entire word “False”.
1.) log,(2*) = wlog,(2)

2.) (a®)¥ = o™

3.) log, (%) = log,(2) + log,(w)

4) a®a¥ = a™

5.) log,(Z) = log,(z) —log,(w)

6.) £ = qa™tV
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7.) Write 417471704 as 3 rational number in standard form.

e 17317641 2 |
% “ =4 o= 1¢

8.) Write (95)% as a rational number in standard form.
%) % 3

=97 = 3=27

R

9.) Write 10,000% as a rational number in standard form.

s

—

QOL’LY/?- = 0% = )0f = Jooooo

10.) Write (£)~5 as 4 rational number in standard form.

SRR




11.) Write logyo(1,000) as a rational number in standard form.

/03,0()03)‘: =

12.) Write logg(—g—-) as a rational number in standard form.

ijfs( )_,g/

13.) What is the greatest integer that is less than logs(37) 7
52<37<5°
= )< 1035 (37)< 3

14.) Solve for z if e = 3

406363)

15.) Solve for z if logy(z) = —3
(Write your answer as a rational number in standard form.)

% -5 )
=TT E A

16.) Solve for z if 24 e*t5 =8
1*5 6

a+5= o e(é>
‘103{,_(63 5



17.) Solve for z if 4log (22) = 16

1033(2:{_) :-lé": 4

2x=e"
x=e?
18.) Solve for z if 62“’“8”‘?3 =7
(24D +(2+3)
e =7/
2+
=15

EJC*LIL = )Ofﬁ-e (7>
Lq = }Oﬁe(7>“’[7!'

oo (7) -4
= R

19.) Solve for z if log, (z + 7) = 2 + log,(z)

2+7=e"X

7= etx-x = 2(e*~1)
7
x =5

e? -}



20.) Find a root of z3 + w@

Fac’mG oQ‘ -2 J,"’,Z,-Z

2
‘+l~2=O/ S0 i 7S a vroot

21.) (2 pts.) Completely factor z® + 2% — 5z — 2 (Hint: 2 is a root.)

' DIScr'tm‘thanﬁ‘ oy‘ xz—i' 31‘*’ } Xy

2| | #1-5-2 .
3 “‘L{'(I)(I):: 9-4=5
2 4 2 So  there are 2 rootfs:t
——
B R CRREE B G
2 “ 2
X>+x*-5x-2

7\
()(_-Z) (12+31+I>

/

<x -3+r') (ﬂsﬂf"




22.) Graph p(z) = —2(z + 2)(z + 2)(z — 1)(2® + 3)
Z-int:-2 and 1
in between: p(e)= -2(0+2)(0+2)(0-1)(0%+3) >0

left 2 eiqht: =0 5 f% —
23.} Graph 3

vert asym® ~2
X-nt? 2 : rlx) — 5(z — 2)
in between: \"(!)‘—2_5*3('3;!‘))':0( ) 2(z +2)

left t-ﬁJ\\‘l'* ?-5_& 5 .
2x 7

==

24.) Graph e* and label its y-intercept.

25.) Graph log,(z) and label its z-intercept.

26.) Graph 3e” and label its z- and y-intercepts (if there are any).

27.) Graph log,(—z) and label its z- and y-intercepts (if there are any).

28.) Graph f:[-1,1) — R where f(z) = 2.

29.) Graph g : (—~2,2] — R where g(z) = z.



